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QUESTION 1

You have created a new index. What is the command to potentially change the access path for a static package?
A. FREE

B. RESET

C. REBIND

D. REFRESH

Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/perf/src/tpc/
db2z_influenceaccesspaths.html

QUESTION 2

Which option is used with the RECOVER utility when the data sets of the target objects have already been restored to a
point of consistency by another process offline?

A. LOGONLY

B. FROMDUMP

C. TOLASTCOPY

D. CURRENTCOPYONLY
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_12.0.0/ugref/src/tpc/ db2z_recoversyntax.html

QUESTION 3

What is the result XQuery FLWOR expression when running the following scenario?



CREATE TABLE EMPLOYEE (EMPID INTEGER, INFO XML);

INSERT INTC EMPLOYEE VALUES (1,
‘<employeeinfo>
<name> Joe Smith</name>
<department name="DB2">
<team>Development</team>
</department>

</employeeinfo>’);

SELECT
MLSERIALIZE(
XMLOUERY |
‘for $i in $i/empoyeeinfo
return $i/name’
PASSING INFO AS “i1¥)
AS CLOB)
FROM EMPLOYEE:

A. Joe Smith
B. Joe Smith
C. Joe Smith
D. Joe Smith DB2

Correct Answer: A

QUESTION 4

If a scrollable cursor is INSENSITIVE, which of the following applies?

A. The cursor is read only

B. WITH ROWSET POSITIONING is not allowed

C. The select-statement must not contain an SQL data change statement

D. The cursor has sensitivity to changes that are made to the database after the result table is materialized
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/java/src/tpc/ imjcc_tjvsjscr.html




QUESTION 5

Which of the following are valid objects created using DDL? (Choose two.)
A. PLAN

B. PACKAGE

C. DATABASE

D. SEQUENCE

E. USAGE LISTS

Correct Answer: DE

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_10.5.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0023321.html

QUESTION 6

Which of the following table space types does NOT support the use of REORG TABLESPACE SHRLEVEL (NONE)?
A.LOB

B. Simple

C. Partition-by-range

D. Partition-by-growth

Correct Answer: C

QUESTION 7

Which type of lock is obtained when using a "WITH UR\\' clause on an SQL SELECT statement in a data-sharing
environment?

A. U-lock
B. S-lock
C. P-lock
D. No lock is obtained

Correct Answer: D

QUESTION 8

Which of the following is used to identify valid source and target combinations and to perform the conversion from one



coded character set to another?

A. EBCDIC tables

B. z/OS Unicode support

C. DB2 catalog table SYSIBM.SYSCOLUMNS

D. DB2\\'s Distributed Relational Database Architecture
Correct Answer: B

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK _11.0.0/intro/src/tpc/
db2z_codedcharsetsandccsids.html

QUESTION 9

Which of the following statements about a table with a LOB column is TRUE?

A. It doesn\\'t need an auxiliary table if it has an inline LOB

B. It must also have a ROWID column and an auxiliary table

C. It doesn\\'t need a ROWID column (implicit or explicit) if a LOB locator will be used

D. It must be in a partitioned by growth (PBG) universal table space with a ROWID column

Correct Answer: B

QUESTION 10

Which of the following statements is TRUE when issuing an SQL ROLLBACK (without SAVEPOINT) statement?
A. All held LOB locators are retained

B. All locks that are implicitly acquired during the unit of recovery are retained

C. All rows and all logical work files of every created temporary table of the application process are deleted

D. All cursors are closed, all prepared statements are retained, and any cursors that are associated with the prepared
statements are invalidated

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/sqlref/src/tpc/ db2z_sql_rollback.html

QUESTION 11
A view is considered read only if which of the following is TRUE?

A. The first FROM clause identifies only one table



B. The outer fullselect contains an ORDERED BY clause

C. The first SELECT clause specifies the DISTINCT option

D. The fullselect includes a column of a base table that is defined as implicitly hidden
Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/SSEPGG_10.5.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0052327.html

QUESTION 12

Which of the following automatically maintains historical versions of data over several years?

A. A partitioned-by-range table

B. A partitioned-by-growth table

C. A system-period temporal table

D. An application-period temporal table

Correct Answer: C

Reference: https://books.google.com.pk/books?id=ravEAgAAQBAJandpg=PA30landlpg=PA301landdqg=db2
+automatically+maintains+historical+versions+of+data+over+several
+yearsandsource=blandots=eMUVegTHYYandsig=ACfU3UO0s1wYpk3CCUdmUpXWXB4TV90Yfdwandhl=enandsa=

Xandredir_esc=y#v=onepageandgq=db2%20automatically%20maintains%20historical%20versions%200f%
20data%20over%?20several% 20yearsandf=false
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